Warm Up

October 26,2018

Find the slope from the graphs and tables below. _y,
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How can you find the slope without a graph or table ?

(X1, ¥1) and (x2,y2)

*It is important to remember to simplify your answer!*

If you have a table, pick two points!



Find the slope between each pair of points.
1.) Write the points.

2.) Label (x1,y1yand (xz, y2)

3.) Write the formula.

4.) Plug - In (*Remember the signs)

5.) Simplify



The slope formula is used to find the slope
between two points (x1, y1) and (xz, y2).

SLOPE
FORMULA

Formula: —m_—_ ia-— il

*1t is important to remember to SIMPLIFY your answer!*
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2. (-2, 4) and (10, -2)
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Slope Intercept Form

y - intercept

y=mx+b .~

e

slope- always the coefficient paired with the
X



Ex 1)
What are the slope and y-intercept of the graph of y=5x +27?

Plan Ahead:
[s the equation solved fory? (y =)?
If not then solve for y.

Use slope - intercept form (y = mx + b)

Label the slope and y-intercept.



Write the equation of a line given the slope and y-intercept.

1.stepe = 2; yintercapt = -1 _ _E_&XZ_I_
m

2. slope = —é; y-intercept = 4 %_‘: §X+q-
3. slope = -3; y-intercept = 2 _\ E:_QX-J:&

4. slope = -1; y-intercept = 7 _X_\_\l
%T = -\X+‘\

5. slope = %; y-intercept = 0 =



Standard Form

ax + by =c

y is still the most important
term



Given equations in standard form, you must
convert them to slope-intercept form.

Examples:
1. 2xG YF 3 2. 4x + 5y 3 -30
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[dentify the slope and y-intecept.
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[dentify the slope and y-intercept.



5.4x -y =10 6. 3x -2y = 14
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[dentify the slope and y-intercept.




Notebook Practice

Find the slope from each equation.

1)3x+2y=12,m=___  2)y=4x-100m=__ _
3Jy=-x+3,m=___ Zix-yv=12Th=" "
5)-6x+4y=-12,m=___ 6.)-3x+2y=6,m=___

7)y=-6x-3,m=___  8)x+y=8 m-=_




